PURCHASE DIVISION Advice for approval for credit to supplier

Date:			100	121		Prepared	l by:		20	hakar			
PO/WO no).	7	6945	3/-/		PO / WO	Date.		7000	121			
Supplier N	er Name				PO/WO	amount		CITI S. CMI					
Firm/Comp	oany	-	Medy	Hor	nes	Project			000	Homes			
Sl. No.		Bill No.			1	Bill Date	;	a	Bill amount				
1			1726-	1		F	15	21	(DTS:44				
2		11	/							A			
3										/			
4													
Amount A	– Bills	total(Exclu	ding Transpo	ort & Ha	mali Charge	es):	31		475	.44			
Sl. No.	DC.N	lo .		DC. Dat	e		MRN	No.	DC matches M	, ,			
1.	1	4777		7	3/2/		9	1871	✓ Yes □ No				
2.					()				□ Yes □ No				
3.									□ Yes □ No				
Amount B	-Other	Credits :_Tr	ansportation	charges	/Charges								
Amount C	-Other	Debits:			0		8.			-			
Amount D	(D=A-	-B-C) – Am	ount to be cr	edited to	the supplie	r:			475.	CACA			
Amount E	- PO /	WO value:							01-10.0	NOD			
Amount F -	- Diffe	rence (A – E	E): GST-18%	Ò					9/3				
Quantity re-	ceived	as per PO /	WO		Yes 🗆 E	Excess red	eived [Short received	l Other (expla	ined below)			
Is difference	e betw	een PO / Bil	l acceptable	?	_□ Yes □ N	lo (expl a	ined be	low)					
Excess / sho	ort mat	erial receive	d	8	□ Approv	ed = with	in acce	ptable limits 🗆 1	No (explained be	elow)			
Close PO /	W?O				₩ Yes □ N	Vo – wait	for bala	ance material	No (explained b	pelow)			
Advance pa	id / PI	OC given (de	duct when p	aying)	□ Yes – R	.s. /-	₽ No						
Payment - o	due da	te			10	10	1						
Remarks:		(4)			(/	131-	1.						
Approved by	i	Purchase Officer	Purchas Manage		rocurement Manager	M	D	Accounts – receiver of bill	Accountant	Accounts Manager			
Sign:			124	-				OIII					
Date			130	1	20								

Notes: 1. In case amount to be credited to supplier and the bills total does not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve Pos/Wos upto Rs. 10,000/-, Purchase Manager or Procurement Manager to approve all bills from 10,000/- to 1, 00,000/- . 4. Attach JV, Office copy of PO/WO, DCs and bills to this advice. 5. In Amount A, exclude transport, Hamali charges, etc and instead include in Amount B. 6. To be approved by accounts manager if bill value exceeds Rs. 10,000/- 7. MD to approve all bills above 1, 00,000/-

Summit Sales LLP 1, II Floor, Soham Mansion, M.G.Road. Secundaria

#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:07-05-2021

	ıstomer Det	ails				Invoice No.	17267			
	sta Homes					Invoice Date.	07-05-2021 76943			
Ka	pra, Opp to	MRR School, Ecil				PO No.				
						PO Date.	05-05-20	21		
SY	.no.193					Req ID	65875			
CS	STIN: 36	AAGFV2068P1ZJ				Req Date	04-05-20	21		
O.L	J1114 · 50	20001 12J				Loc Req No	180782			
		Description of C	Goods	HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt	
1	7560 - Stat	ionery - other - Pen -	NA - nos	9608	24	5.50	132.00	12	15.84	
	Cello Blue			1						
2	7560 - Stat	ionery - other - Pen -	NA - nos	9608	12	5.50	66.00	12	7.92	
	Red Cello									
3	7560 - Stat	ionery - other - Pen -	NA - nos	9608	12	3.50	42.00	12	5.04	
4	75/// Stat	ionery - other - Marke	or MA noo	9608		16.00	06.00	10	11.5	
+	7344 - Stat	ionery - other - iviai ke	er - NA - nos	3000	6	16.00	96.00	12	11.52	
5	7605 - Stat	ionery - other - Whitn	ner Pen - NA - nos	9608	4	21.00	84.00	18	15.12	
6										
								1		
7										
8							-			
Ť										
9										
10										
10										
1										
2		*								
-										
3				i.		1-				
4										
		8								
5										
	IGST	CGST	SGST	Total Taxable	Amount		420.00		55.44	

Rupees: Four Hundred Seventy Five and Paise Fourty Four Only.

for Summit Sales LLR

Authorised signalor

Subject to Hyderabad Jurisdiction



Page(s) 1 Of 1

05-05-2021 17:42:27

Ori

06 05 21

From Company: **Vista Homes**

5-4-187/3 & 4, IInd Floor, M.G.Road, Secunderabad - 500003

G S T No.: 36AAGFV2068P1ZJ

Doc No	76943	180782
Doc Date	05-05-2021	
Quote No	Nil	
Quote Date	05-05-202	21
SupplyType	Supply	
	Doc Date Quote No Quote Date	Doc Date 05-05-202 Quote No Nil Quote Date 05-05-202

Kind Attn: Hamendra, Prabhakar

Purchase Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	GST	Amount
1 7560 - Stationery - other - Pen - NA - nos Cello Blue	24.00	5.50	0.00	12.00	147.84
2 7560 - Stationery - other - Pen - NA - nos Red Cello	12.00	5.50	0.00	12.00	73.92
3 7560 - Stationery - other - Pen - NA - nos	12.00	3.50	0.00	12.00	47.04
4 7544 - Stationery - other - Marker - NA - nos	6.00	16.00	0.00	12.00	107.52
5 7605 - Stationery - other - Whitner Pen - NA - nos	4.00	21.00	0.00	18.00	99.12
		Total Or	der Value	e	475.44

Rupees: Four Hundred Seventy Five and Paise Fourty Four Only.

Terms and Conditions :-

Specification / As per details given in the quotation.

Payment Terms After Delivery & Production of bill

All taxes included in above price. Tax

Vista Homes

Delivery Date Next Working Day.

Delivery Location Sy. No. 193, Kapra, Hyd. From ECIL take left in lane opposite MRR school

Phone. Contact: 8790166611

Penality For Delay Nil

Transportation Transport cost shall be borne by us.

Warranty Nil

Nil **Advance Paid**

Other Terms We reserve the right to reject items not conforming to quality and specifications. Above order for circulars filling plans

filling purpose.

Completion Date NA Measurment NA Nil Security

Remarks

For Vista Homes **Authorised Signatory**

Contact - -

Accepted the above Terms And Conditions

For Summit Sales LLP

Name :

Date : __/__/__

Requisition Form

_	1			Requ	11S1t1	on Form				
Com	pany Name:	Vista Ho	mes	•		Date:		04.05.21		
Site	& Phase :	Vista Ho	mes	Time:				11:30		
Supp	olier:				Req.	No.		180782		
Mate	erial required before date:		08.05.2021		ID N	0.		65875		
No	Descri	ption		Size		Quantity	Units	Inward No	Date	
1	Cello Blue pens					24	No's			
2	Cello Red pens					12	No's			
3	Ordinary Blue Pens					12	No's			
4	Markers	, 2	2			06	No's			
5	Correction pen	, a				04	No's			
6	./	XO .								
7								400		
8							OVED			
9						T. APP	ROVE			
10						7/207	MAY 2021		,	
Rema	arks: For Site office purp	ose.			//	1	INK	AMOEL		
Prepa	ared By	T.Madhu		4	Appr	oved by P. P.	NAGER PUR			
Sign.	& Date	04.05.21			Sign.	& Date				
Note	e: On receipt of material at	site write in	ward number ar	nd date in	last 2	2 columns.				

DELIVERY CHALLAN

Summit Sales LLP #5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

1 of 1:07-05-2021 Email: purchase@modiproperties.com GSTIN/UNI: 36ACQFS2044C1Z7 14777 DC No. 07-05-2021 Supplier / Customer / Transporter - Copy DC Date. 76943 PO No. **Customer Details** 05-05-2021 PO Date. Vista Homes 65875 Kapra, Opp to MRR School, Ecil Req ID 04-05-2021 Req Date 180782 Loc Req No Qty SY.no.193 HSN/SAC 24 GSTIN: 36AAGFV2068P1ZJ 9608 Description of Goods 12 9608 12 1 7560 - Stationery - other - Pen - NA - nos 9608 6 7560 - Stationery - other - Pen - NA - nos 9608 4 3 7560 - Stationery - other - Pen - NA - nos 9608 4 7544 - Stationery - other - Marker - NA - nos 7605 - Stationery - other - Whitner Pen - NA - nos 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21

	No pursue signature to all the second	COLUMN CONTRACTOR CANDON CANDO	TO THE	Light Martin State (Sept. 1997). Sept. Sept. Sep	Control of the State of the Sta	Tier of
		INWAI	KII	entre de santinires	Carrentmen	need
100	ward No	25915	Dt: 7	15	121	-
Y &	RN No:	91871	Dis	451	21	A COLUMN TO A COLU
Subject to Hyderabad Jurisdiction	i eceived l	350	Sign			Partition and Period
		Manuscript of the Section of the Sec	grove to the Gallerian and the con-	er mengapusakanka	MINE PROFESSION	unds)
		Vista He	emea	e kanar anyanya dinana	sweigenie operwise	
	and the state of t	Fig. 1. The season and the control and a control				

for Summit Sales LLP

Authorised signatory

Summit Sales LLP

TRANSIT CORY #5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:07-05-2021

Customer Det	ails				Invoice No.	17267			
Vista Homes					Invoice Date.	07-05-20	21		
Kapra, Opp to	MRR School, Ecil				PO No.	76943			
					PO Date.	05-05-20	21		
SY.no.193					Req ID	65875			
GSTIN: 36	AAGFV2068P1ZJ				Req Date	04-05-20	21		
GBTIIV: 502	11101 720001 123				Loc Req No	180782			
	Description of C	Goods	HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt	
1 7560 - Stat	ionery - other - Pen -	NA - nos	9608	24	5.50	132.00	12	15.84	
Cello Blue							-		
2 7560 - Stat	ionery - other - Pen -	NA - nos	9608	12	5.50	66.00	12	7.92	
Red Cello									
3 7560 - Stat	ionery - other - Pen -	NA - nos	9608	12	3.50	42.00	12	5.04	
4 7544 - Stat	ionery - other - Marke	er - NA - nos	9608	6	16.00	96.00	12	11.52	
5 7605 - Stat	ionery - other - Whitn	er Pen - NA - nos	9608	4	21.00	84.00	18	15.12	
6									
7									
8									
9									
0									
1									
2									
3		The second section of the section of the second section of the section of the second section of the secti		4					
4									
4									
5									
IGST	CGST	SGST	Total Taxable	Amount		420.00		55.44	
	27.72	27.72	Total Invoice A	Amount			475.44	,	

Subject to Hyderabad Jurisdiction

Villa Homes

for Summit Sales LLI

Authorised signatory